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INTRODUCTION 

The Massachusetts Department of Employment and Training has prepared a set of 

publications presenting labor market information for affirmative action programs in 

order to assist employers who are attempting to meet affirmative action obligations. 

A separate informational packet is available for Massachusetts and each of the 

Standard Metropolitan Statistical Areas as they existed at the time of the 1990 

census. 

Users should note that these publications do not contain the specific requirements to 

which federal contractors must conform in making a utilization analysis. For technical 

assistance regarding affirmative action requirements not contained in this packet, 
please contact the Office of Federal Contract Compliance, Boston Regional Office. 

They may be called at (617) 565-2055. 

The labor market information contained in these publications is based on the 1990 

census. The Massachusetts Department of Employment and Training has no current 

plan to revise these editions until updated information from the 2000 census is 

received from the federal government. Questions concerning these data packets 

should be directed to the Field Research Department at (617) 727-6530. 

The Massachusetts Department of Employment and Training is prepared to assist 

employers in affirmative action recruitment. The Opportunity Job Center in your area 

uses Computer assisted job matching to bring together qualified job applicants and 
available job openings. In addition, the local job center can provide information on 
government funded programs designed to assist employers in job training and 
placement. The Department of Employment and Training’s Opportunity Job Centers 

are listed in your local telephone directory. 

Additional population information may be available at Regional Planning Commissions 

located throughout the state and from the following organizations: 

i Ks U.S. Department of Commerce 

National Technical Information Service 

5285 Port Royal Road 
Springfield, Virginia 22161 

(703) 487-4650 

2; U.S. Department of Commerce 
Bureau of the Census 

2 Copley Place 

Suite 301 

P. O. Box 9108 

Boston, Massachusetts 02117-9108 

(617) 424-0510 

= M.I.S.E.R. - State Data Center 
128 Thompson Hall 

University of Massachusetts 

Amherst, Massachusetts 01003 

(413) 545-3460 



DEFINITION OF AREA 

The Boston PMSA* consists of the following communities: 

Acton 

Arlington 

Ashland 

Ayer 

Bedford 

Bellingham 

Belmont 

Berlin 

Bolton 

Boston 

Boxborough 
Braintree 

Brookline 

Burlington 

Cambridge 
Canton 

Carlisle 

Carver 

Chelsea 

Cohasset 

Concord 

Dedham 

Dover 

Duxbury 

Everett 

Foxborough 
Framingham 

Franklin 

Groton 

Hanover 

Hanson 

Harvard 

Hingham 

Holbrook 

Holliston 

Hopedale 

Hopkinton 

Hudson 

Hull 

Kingston 

Lakeville 

Lancaster 

Lexington 

Lincoln 

Littleton 

Lynn 

Lynnfield 
Malden 

Mansfield 

Marlborough 
Marshfield 

Maynard 

Medfield 

Medford 

Medway 

Melrose 

Mendon 

Middleborough 

Milford 

Millis 

Milton 

Nahant 

Natick 

Needham 

Newton 

Norfolk 

North Reading 
Norton 

Norwell 

Norwood 

Pembroke 

Plymouth 

Plympton 

Quincy 
Randolph 

Raynham 

Reading 

Revere 

Rockland 

Saugus 
Scituate 

Sharon 

Sherborn 

Shirley 

Somerville 

Southborough 
Stoneham 

Stoughton 
Stow 

Sudbury 

Townsend 

Upton 

Wakefield 

Walpole 

Waltham 

Watertown 

Wayland 
Wellesley 

Weston 

Westwood 

Weymouth 

Wilmington 
Winchester 

Winthrop 

Woburn 

Wrentham 

* The above is the definition that was in effect at the time of the 1990 Census. Area 

definitions were revised in June 1993, but EEO data are not available for these newly 

revised areas. 



BOSTON,MA PMSA* 

As defined by 

U.S. Office of Management 6 Budget 
30 Jume 1983 

Primary Metropolitan Statistical sires 
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Table 1 

Table 1A 

Table 2 

Table 3A 

DESCRIPTION OF TABLES 

Population by Race 

This table contains population by race from the 1990 Census of 

Population, General Population Characteristics, Massachusetts CP-1-1B. 

This is an unduplicated count of individuals with minority status. 

Population by Sex and Minority Status 

This table contains population by sex and minority status from the 1990 

Census of Population, General Population Characteristics, Massachusetts 

CP-1-1B. 

Labor Force Status, by Sex and Minority Status, Noninstitutional 

Population 16 Years or Older 

This table contains labor force, employment, and unemployment data 

from the 1990 Census of Population and Housing, Summary Tape File 3. 

Summary Occupations by Sex, Race and Hispanic Origin 

Table 3 totals summary occupations of the civilian labor force by sex, 

race and Hispanic origin. The report is based on the 1990 Census of 
Population and Housing EEO File. 

Detailed Occupations by Sex, Race and Hispanic Origin 

Table 3A, based on the 1990 Census of Population and Housing (EEO) 
File, totals detailed occupations of the civilian labor force by sex, race, 

and Hispanic origin. Census data on race and Hispanic origin were 

obtained through self-identification. (The numbers shown in parentheses 
next to the occupational title are the occupational codes.) 

Information on terms and definitions used for the 1990 Census is available from the 

U.S. Department of Commerce, Bureau of the Census. See the "Introduction" for the 

address and telephone number of their Boston Regional Office. 
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Table 1 

Population by Race 

Boston PMSA 

1990 

Race/Ethnic Group (1) 

209,970 

Native American 5,250 

Asian and Pacific Islander 95,044 
Other Races 60,546 

White, Not of Spanish Origin 2,439,321 

Black, Not of Spanish Origin 195,393 

Native American 4,503 

Asian and Pacific Islander 93,340 

128,883 

60,538 

14,577 

Native American 747 

Asian and Pacific Islander 1,704 

Other Races 51,317 

Total Minority Individuals (2) 370,810 12.9% 

Female 1,493,537 52.0% 

SOURCE: 1990 Census of Population, 

General Population Characteristics 

Massachusetts 1990 CP-1-1B 

(1) Racial Groups as defined in the 1990 Census 

(2) The sum of Blacks, Native Americans, Asian and Pacific Islanders, and 

Other Races, Not of Spanish Origin, and Spanish Origin by Race 
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